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~ - IV/ PART - IV 

~ · ~ 'fl '& · fcrsrR / SCIENCE 
t'1~~T ·. I 4-/J, ~ d W;ff ci- YflT 0 ~ 0fl[ ~ ~ mr/ ~ I 
D1rect1011 : A1mrer the fo llmrin a Fesi,·0 11 b 1 . . 1 ost a l ion. 

..., · s ' se ecnna t 1e 111 

91. 2s0 .. . 
.J , 

L1H = -45 kcal cr; ~ ~ if B ~-m 
~ oo i ? 
Cl) wrr ~ q{ Jffl ~ coT ft@Rr 
~ cf, ~ ~ mTff 

(2) ~ ~ ~ cf, ~ ~ 

(3) ~ ~ ~ cf, ~ ~ 

(4) ~m 1, 2 ~ 3 "ff'4T ~ cr; fw! 
fltw-!cb mffi ~ 

92. {-q9R.s cor ~ it ~q1~ <0 1 i@T ~ : 

(1) ~~Rcfil"~. G9ffi 
(2) fqfi:Ilf1Zil~ftm cf,T ~ ~ 
(3) fq9ciffif1 cfil" ~ ~ 
( 4) fq4ciZJ\~ffifi cfil" ~ ~ 

93. ~ QcflJ ~ cfil ~ @ ~ 
~ : "\ 

qiq;r (o31) : ~ li"~ cf, '3IBT9T 

li"~ cfi ~ cf, ~ ~ 
~jfolci ~~ I 

?/il(o/(~ : ~ ~ ~ ~ 
~~~ I 

(I) '3i ~ 5f ey;rr~ ~ ~ ~ 5f, Ji Cf)[ 

oo fqlSi!.lc/5{ 0 1 ~ 
(2) Ji ~ 5f ~ ~ ~ ~ ~, Ji 

cf)f oo"' fqt5cicjj{O f ~ i 
(3) Ji ~ ~ ~ 5f ~ i 

~ 
(4) '3i ~ 5f ~ <? 

94. ~ ~ ~ L elm ~ R, 1:% 12V 
c'P'-TT 50Hz ctr 4 i ~ ~ it 
~ ~ i , ~ 0.5 A ctr mu ~ it • mm ~, mu, ·~~ if 
n/3 ~ i c/5~ 1~ < it i I R cfil llR 
"\ 

~ : 

(1 ) 4 Q 
(3) 8 Q 

level-2/3211 

(2) 6 Q 
(4) 12 Q 

f or the reaction 2S0 2 + 0 2 ~ 91 . 
tiH = - 45 kcal. ,vhich one of the 

follo"\·ing statement is correct ? 
( I) The reaction is favo ured by the 

addition of inert gas at constant pressure 
t{1) The reaction is favoured by the 

increase in temperature 
\fi/1' The reaction is favoured by the 

increase of pressure 
~ The reaction is favoured by the 

condition I, 2 and 3 ~ 

92. Spermatids are transformed into 
spermatozoa by the process of : 
(1 ) Spermiation 
(2) Spermiogenesis 
(3) Spermatosis 
{4f Spermatogenesis 

93. Read Assertion and Reason and select 
correct option : 
Assertion (A) : All members of bee 

society are diploid 
except the drones. 

Reason (R) : Drones are produced 
parthenogenetically. 

(1) Both A and Rare true and R is the 
correct explanation of the A 

(2) Both A and R are true but R is not 
t,/ the correct explanation of the A 
'("j ) A is true but R is false 
(4) A and Rare false 

94. \Vhen an inductor L and a resistor R in 
series are connected across a 12V. 50Hz 
supply, a current of 0.5 A flo"vs in the 
circuit. The current differs in phase 
from applied voltage by ;r/3 radian. The 
value of R will be : 
(1) 4 Q (2) 6 Q 
(3) 8 Q ~ 12 Q 

l '2 u ~ 6 H2-
o ,<; 

P. T. 0 . 
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95. 

96. 

97. 

98. 

99. 

100. 

c11l~~F1 ~ 9?i;?H-q(<\q ;ef/' irnT ~ : · 
(1) cf!SfT it ~ 
(2) ~~if~ 
(3) 'i'J'J(il«H it ~ . 
(4) 'I~ ~ a1q9H it ~ 

£a) ~-ll~+rtl (CN3_ (b) ~ cf~ (c) 
~ if ~ 9)~ ~'3TI cfil B&lT 
9?1°Bm~t : 
(1) a> b > c (2) b > c > a 
(3) c >a> b (4) a> c > b 

~ if B ~-B "ffil1P.T ~ ~ '3ij~~1JI 

~ ? 
(i) ~ ~ ~ ~ ~ cfill1 '3mIT i I 

(ii) ~ ~ if ~ 0~ am 
~ Na ~ ~ C/2 rtu er; ~ if 
cfill1 '3WIT i I 

(iii) ~ c:hlfkc:h mg cf; ~ if cnll=f 
'3WIT i I 

(iv) ~ ~ &ffi ~ ~ 9?T msT ~ 
~ 9?l° ml" cf; ~ if cpp:f '3:r@T 

~I 

(1) (i) , (ii) ~ (iii) 
(2) (i) , (ii) ~ (iv) 
(3) (ii) , (iii) ~ (iv) 
( 4) (3q {)cffi B'41 

~ ~ ~ q;:r~ ::!i0 11.q1 er; m~ 
tP-t~2!cf~IPlc:h i : . 
(1) NaCl (2) Nal 
(3) K2S (4) CsF 

f.i98Jftsia if B FctB ~ cTJ ~ c1?T 

~ ~ am #/ mm i ? 
c 1) $w7jffem 
(2) cnCTIB 
(3) 11ftl!(il 
( 4) ~ ('1Tft7rt; 

m ~ ~ if ~ ~ q~,t, ~i3TT 
cfil ~ ~ ~I~ ~i3TT c5t cfiW i : 
(1) '.!<[!h~ ~ 
(2) '-11~11141 
(3) i1"11~f.-~lll 
(4) c:hl<i9 coRT 
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95. Deforestation does not results in : 
( 1) Decrease in rainfall 
(2) ) ncrease in soil erosion 

, Of Increase in ground water level 
( 4) Increase in earth's temperature 

96. The correct sequence of number odf 
carhon atoms present in (a) compre~se 
natural gas, (b) dies~ and (c) petrol is : 
( I ) a > b > c 'f2) b > c > a 
(3) c > a > b ~a > c > b 

97. Which of the followings are the 

applications of common s~lt ? ✓ 
(i) It is used as preservative. 
(ii) It is used for manufacture o~ N_a 

metal and Cf 2 (g) by electrolysis m 
molten state .✓-

(iii) It is used for manufacture of 
caustic soda. ../ 

(iv) It is used for manufacturing baking 
soda and washing soda by Solvay 
process. 

(1) (i), (ii) and (iii) 
(;_) (i) . (ii) and (iv) 
n) (ii), (iii) and (i v) 

-~ All of the above 

98. The compound in which cation 1s 
isoelectronic with anion is : 
(1) NaCl (2) Nal 
(3~ K2S (4) CsF 

99. The seeds of which of the following 
plants are not dispersed by wind ? 
(1) Calotropis 
(2) Cotton 
~ Coconut 
( 4) Drumstick (J\1oringa) 

100. In Frog heart, there are cardiac muscles 
which consist of fibres called : 
(1) Purkinje fibers 

l.{25 Myonemes 
(3) Telodendria 
(4) Columnae carnae 
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101. f.r9 if B cfiA"-m qc}~ ~ cfi ~ ITT 
~ ~ J'ci {~1~1 ~ %- ? 
(1) Ag 20 (2) Ag2Co

3 
(3) Ag2S (4) AgCN 

102. ~8ftl!I cfi ~ , ~~~if mst 
~ ~ ~) - ~ ~ ~ey ~ 
~ %°, chi?~lcil %- : 

(I) ~ 91T ~ (~lh1n-1 m) 
(2) {l~GTI Zifcru., " 
(3) $)~ft:., 
(4) $)4)\Jf)~., 

103. ~~cf, "~ ~ )) i : 
(A) cs!i~&~ ~ (B) ~ ~ 
(C) TM (D) ~ 
(1) A ~ B (2) C ~ D 
(3) B, C ~ D ( 4) A , B, C ~ D 

104. Pl9Rlf€la if B ~ -m ~ ~ ~ 
\j-jft~H rflft ~ ? " . 
(1) ~ ~ ~ if ~Ra'i~cfi ~ _ 
~ 

(2) cR ~ '3F-TWfr.IT if ~ ~ ~ 

(3) ~ ~ c41llc!lll 'BrTI ~ 1WW1 G«f 
~~ 

(4) cR if qlidc/?lll mm0TI ~ ~ 

10s. ~ if B ~ "EflSfur mu '3TTBAl B 
'3fflrn rftft ~\Y[TffchciT? 

(1) {% ~ qf?f 

(2) {% ~ ~'3TT ~ 
(3) l% cz,i1fkch ~ ~ (~) 

(4) {% ~ ~ ~ 

106. C1cfi ct fcrcrfu, ~ - ~ ~~.,RlchlQ, fIB 

'3T~ ct 1Tfu ~JTT B ¥.ill i : 

(1) ~ -II ct ~ 
(2) ~ -I ct~ 
(3) ~c:145"'1 -Il ct ~ 
(4) cz.,145"'1-II ~ ~ 

Level-2/3211 
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101. 

102. 

103. 

I C I 

Which of the following compound 1s 

res~ nsible for _tarnishing of si lver ? 

(,l1 Ag 20 (2) Ag2C03 
(3) Ag 2S (4) AgCN 

in malaria, the product released by 
mosquito into blood that cause chill and 
fever, is called : 
~~!/Schuffner's dot 
()() Rhizotoxin 
(3 ) ·Hematin 
( 4) Haemozoin 

The "essential whorls" of a flower are : 
(A) Calyx . (B) Corolla 
(C) Androecium (D) Gynoeciurn 
(1) A and B (2) C and D 

fi} B, C and D (4) A, B, C and D 

104. Which of following is not an adaptation 
for Xerophytes ? 
( 1) Presence of chlorenchymatous 

tissue in stem cortex 
(2) Presence of sclerenchymatous 

tissue in stem hypodermis 
'{35 Presence of waxy layer on aerial 

plant parts 
(4) Presence of aerenchymatous cells 

in stem 

105. Which of the following can not be 
charged easily by friction ? 
(1) A woollen cloth 
(2) An inflated balloon 

(3) A plastic scale 

~ A copper rod 

106. The micro tubules from opposite poles 
of the spindle get attached to the 
kinetochores of sister chromatids during : 

( 1 ) Prophase-II 

(2) Prophase-I 

L.(d) Meta phase-II 

( 4) Anaphase-II 

P. T. O. 
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I _cl 

107. 

108. 

109. 

110. 

~ '3~ '319T cfi tr~~ ~ ~ 
>M1cft ~ i ? 
(1) 64 (2) 32 
(3) 41 (4) 61 

~ ~ ~ , ~ ~ cfi ~ (~L = J .5) 
~ rcFITTT 6.0 cm % cfi &TTT ~ en{ 

-nm~ %1 wR B ~ ~ <R ~ 
<R~'31e-R~l=lRBfuim~ 
>fcl@ €rt ? 
(1) 1.0 cm 
(3) 3.0 cm 

(2) 2.0 cm 
(4) 6.0 cm 

~~I ch1 ~ -II cfi m~ ~ ~ 
z,m~cfi~~ ~~ctr~ 
BBm~cfiT~~ : 

~-I ~ -II 
(~) (~) 

(a) ~~ (i) qto izo {f,o 
·(b) cfi~'i~cfc'l (ii) ~ ~ 
(c) 0il~f1IQ11 (iii) ~ -6 

(d) cffe\?MHl~5';i~~ (iv) qto cfto mo 

~ : 
(a) (b) (c) (d) 

(1) (i) (ii) (iii) (iv) 
(2) (iv) (ii) (i) (iii) 
(3) (iv) (i) (ii) (iii) 
(4) (iv) (iii) (ii) (i) 

~ -I ~ ~ -II cfi m~ ~ ~ 
z,m ~ cfi ~ ~ rm ~ ~ ~ 
Bmft~cfiT~~ : 

~-I ~-11 
(ftr~mw (tW6) 

(a) i:mIB 
(b) cfiffiT 
(c) ~11~1 
(d) ~lj~~llS-J 

~ : 
(a) 

(I) (i) 
(2) (iv) 
(3) (iv) 
(4) (i) 

(b) 
(iv) 
(i) 
(i) 

(iii) 

(i) Cu~ Sn 

(ii) Al, Cu, Mg ~ Mn 

(iii) Al~ Mg 

(iv) Cu~ Zn 

(c) 
(ii) 
(ii) 
(iii) 
(ii) 

(d) 
(iii) 
(iii) 
(ii) 
(iv) 
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107. 

108. 

How many effective codons are there 
for the synthesis of twenty amino acids ? 

(1) 64 (2),)2 
(3 ) 4 I (147 6 I 

A printed page is kept pressed by a 
glass cube (~L = 1.5) of edge 6.0 cm . By 
what amount will the printed letters 
appears to be shifted when viewed from 

top ? 

(~ },_) .0 cm 
J,-3') 3.0cm 

(2) 2.0 cm 
(4) 6 .0 cm 

109. Match List-I with List-II and select the 
correct answer by using the codes given 

below the list : 
List-I 
(Monomer) 

(a) C hl oroethen1 ( i) 
(b) Caprolactum (ii) 

(c) Isoprene (iii) 

(d) Acrelonitrile (iv) 

List-II 

(Polymer) 
P.A .N . 
Natural rubber 

Nylon-6 

P.Y .C. 

Code : 
(a) (b) (c) (d ) 

( i , . ) (I) (i) (ii) (i ii) 
Ll~ (iv) (ii) Ci) (iii ) 

(iii) 
( i) 

(3) (iv) (i) (ii) 
(4) (iv) (iii) (ii) 

110. Match List-I with List-II and selec t the 

c01Tect ans\ver by using the codes given 

below the list : 

List-I 

(Alloy) 

(a) Brass 

(b) Bronze 

(c) Duralumin 

(d) Magnellium 

Codes: 
(a) (b) 

~ (i) (iv) 
(2) (iv) (i) 
(3) (iv) (i) 
(4) (i) (iii) 

List- II 

(Constituent) 

---{ i) Cu and 511 

(ii) Al, Cu. Mg and .\/11 

(iii) ,.J / and ,\lg 

·v) Cu and Zn 

(c) (d) 
(ii) (iii) 
(ii) (iii) 
(iii) (ii) 
(i i) (iv) 
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(1) NO 
(2) S02 

(3) 03 

(4) ~~~ cfil4~cfi ~ 

112. f1(t"1'1 ,3:1 B >ll1{f ~ g 
(1) wft~t4A 
(2) t4R ~ ·WkTT.-i 
(3) 'i I lff11 'i ~ {~Tq 
( 4) =t~-r=r ~ WfT 

113. f;i-q if it ~ -it ~ @m 1:Kl"m i 
-3{1cf(-1lcfi{ 0 I c8" ~ if ~ ~ ? 

114. 

115. 

( i) -3-TT cR-17 cfi < 0 I >Tfunm ( >ifu JD cRil cfil {cfi) 

1:Kl"m cfiT ~ m 
<ii) cWJTitfcfi ~ if ctcfi m 
(iii) Jffl frB ~ 'K'f~T ~ cfiT ~ 

ffi 
( i V) ~ ~ cfiT ~ cfiTcfi 
(I) (i) , (ii) ~ (iv) 

(2) (i) , (ii) ~ (iii) 

(3) (ii) , (iii) (:cf (iv) 

(4) Jq(lc@ 'cITTT 

~ -m ~m ~ i:rem ct ~ ct J TTtlf{ 

<TT cnr::t cfiTill g ? 
( 1 ) ~-filtITlr 
(2) qq-;, ~ 
(3) ~~ 
( 4) ~ ~ffl 
h1--TT ifi ~~ cnT J~qc:kl'iicfi 1.25 g I 
l'-tl~'i . c8 
ci{ll~tl/ 589 nm cft Wfil~T ITT<T 
~ct,c'11'[4cfi qf{c.1Rfc1 cfJB cfi ~ ~ cft 
~ ~ "ITT1TI : 
(I) 88 .5 nm (2) 118 nm 

(3) 177.5 nm (4) 236 nm 

Level-2/3211 
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111. 

I C I 

Which of the following does 110I 

contribute towards the formation or 
photochemical smog ? 
(1) NO 
(2) S02 

~ 03 
(4) Volatile organic compound 

112. Clothes obtained from eel I ulose arc : 
(I) Cotton and Rayon 
(2) Rayon and Nylon 
(3) Nylon and Silk 
~ Silk and Cotton 

113. Which of the fol lowing strategies arc 

useful for preventing oxidation of food 

stuffs'? 

(i) Addition of antioxidants J 

(ii) Keeping food in airtight container✓ 
(iii) Use of t1ush bags containing inert 

0 ases v b 

(i\') .-\clclition of buffer solutions 

(1) (i) . (ii) and (i\) 

(2) (i) . (ii) and (iii) 

(3) (ii). (iii) and (iv) 

J,t} All the four above 

114. Which povver plant works on the basis 
of gravity of earth '? 
( I ) Geothermal 
(2) Windfarms 

~Hydropower 
(4) Nuclear pO\ver 

115. The refractive index of the material or 
the film is 1.25 . The minimum thickness 
or a tilm which will strongly reflect the 
light of wavelength 589 nm \\'ill be : 

(I) 88 .5 nm (2) I 18 nm 

y{J 77 .5 nm (4) 236 nm 

P. T. 0 . 
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116. ~ B ~-m ~ ~ ~ .Jfq~ ~ 
cfil i ? 
( l ) ~ c'f~ chu\q1R=f ~ 
(2) ~ Cl~ 0-Ph1c1°\ch 

(3) ~ ~ J-Rfm~ ~ 
(4) ~ c'f~ ~JTT ~ ~ ~ 

117. ~ ~ fcRur ~ ~ cffiur \:TT" ~ ffl 
~ ~ '3-iqq~., ich 1.5 ~ \:TT" ~ 
mm ~ ill 4° ~ilfB:fa ITT ~ ~ I ~ 
~ 'ITT1TT, ~ "lTITT fct{ur, ~ ~ &Tn 

~ ~ QRT ~ JNc1c'f"1ich 4/3 i:f 
~ s-m ~? 
( l) l O (2) 2° 

(3) 8° (4) 16° 

118. R9 i:f B ~ -m ~ , HBr B M 
qJG \:TT" 1TT'3-11cffil$:S ~ ~ cf 

~i:f"f111R~~? 
(1) ~ 
(2) ~-2 
(3) 2=~~ 
(4) ~ - 1 

119. ~ Nu ITT 200\1. 300W Jm 200V. 

600W ~~I~ ttTT ~if¥. 
% e1m it fi~'11"1 200v ~ ~ mu ~ 
ft ¥.T %, ~ ~ if ft ~ -m ~ 
Bm i ? 
c1) ~ Nu "fP1R ~ ~ m 
(2) 600W ~ Nu if Jffl ~ ~ 

ITT1TT 

(3) 300W~ ~ B '3ffl iW1f iRF1 M 
(4) ~ft~ .,-m 

120. C% ~ ~ B ~ ~ % cfi lfUT cfiT 
fil--jll! .-fi < lci % : 
( I ) 28ITT 

(2) 28 ITT ft ~-m ~ 

(3) 29 ~ 

(4) 29 ITT ft ~-m ~ 

Level-2/3211 
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116. Which one of these pair is cxclusi,·cly 

of vestigial organs of human ? 

( I ) Coccyx and pinna muscles 

(2) ,,,Coccyx and premolar 
tE3') Coccyx and intercostal muscles 

_( 4) Coccyx and facia l hair in \vomen 

117. J\ thin glass prism of refracti ve index 
1.5 produces a deviation of 4° of a ray 
incident at a smal l angle . What will be 
the deviation of the same incident ray 
by the same prism if it immersed Ill 

water of refractive i~ex 4/3 ? 

( I) 1° f2) 2° 

(3) 8° (4) 16° 

118. Which of the follo wing alkene vvill give 
the same product when treated with I IBr 
in presence and absence of peroxide '? 
( l) Propcne 
(2) Butcnc-2 
(3) 2-methyl propenc 
o(JYButene-1 

119. T,vo heaters arc marked 200V. 300W 

and 200V. 600W. If the heaters arc 

connected in series and the combi1iation 

connected to a 200V de supply. then 

which option is true out of the following ? 

( I) Both the heater ,,ill produce same heat 

(JY'heat produced in 600\\' heater is 

more 

(3) heat produced in 300\\' heater is more 

(4) None of these 

120. The time period bet,Yeen a full moon to 

the next full moon is : 

( I) 28 days 

(2) slightly longer than 28 days 

(3) 29 days 

t(4{ slightly longer than 29 days 
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121. ~ <"ifllchl( ~ ~ ~ r ~ ('I"~ 

~tTTU/~m~~cficR:qr 
'1¥;sJq;)lJ -~ B ~ I ~ cfi (TT~ qr, cR: 
°B X = ✓'3r ~ qr '1¥;sjq;)lj ~ cf<:IT ~ ? 

(l) B 
(3) 8B 

(2) B/2 
(4) B/8 

122. ~ ~ ~ fcn 5 m/sec cfi Qch{1911 ~ 
B~\JflmlB~er~~fTRrn 
\JfIBf ~ I ~ ·er~ rTTrTT ~ ~ ~ 
~ c€r ~ 50 m ~ 1 ~ er~ '~ 
~ fTrmr (tlffi) l ~ ~ c€r ~ B 
~ '&rft : (g = l 0 m/ s 2 ) 

(1) 63 .5 m (2) 65.5 m 
(3) 68.5 m (4) ~ "B ~ ~ 

123. co~ ~ 'chRUT ~ ~ @ ~ 
~: . "' . 
c/ier,f ('31) : ~ ~ ~ {1191~ch 

cfilc i I 
cfiT(Uf(~.- ~m~~itCMch 

~~~chqco~~ 

i, 
(1) (TT ~ ~ ~ ~ i (7~ ~, (TT chf 

TTmcnrroT~ 
(2) (TT ~ ~ ~ ~ i ~ ~, (TT 

cnr nm~~~ 
(3) (TT ~ ~ ~ ~ 1W@ ~ 
(4) (TT ~ ~ ~ 1W@ i 

124. Cf>~R'.ch cpffch( 0 1 '3TTmft=r ~ : 
(1) ~ ~ cfi *~ ~ ~ 
(2) ~ ~~ ~ '3TTmft=r ~is1m9 

~ 
(3) ~ ~~ ~ 
(4) ~~ ~ cfi ~cf~~~ 

12s. ~~~mm~: 
(1) 91~cN~l"91 it 
(2) ~ it 
(3) ~ it 
(4) ~-mtr ~ it 

level-2/3211 
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121. 

I C I 

The magnetic field at the centre of a 

circular coil of radius r and carrying a 

current I is B. What is the magnetic 

field at a distance x = ✓'3r from the 

centre, on the axis of the coil ? 

(1) B (2) B/2 
(3) BB r.(-4) B/8 

122. A stone is dropped from a ballo_on 
going up with a uniform velocity of 
5 m/sec. If the balloon was 50 m high, 
then the stone was dropped, the height 
of balloon from ground when stone hits 
the ground will be : ,{g = 10 ml s2

) . , 

(I) 63 .5 m tf1) 65.5 m 
(3) 68 .5m (4) Noneofthese 

123. Read Assertion and Reason than select 
correct option : 
Assertion (A) : Termites and ants are 

social insects. 
Reason (R) : Both establish fungus 

garden in their nests to 
feed on fungus . 

( 1) Both A and R are true and R is the 
correct explanation of A 

(2) Both A and R are true but R is not 
r,.../the correct explanation of A 
~ J A is true but R is false 
(4) Both A and Rare false 

124. P~ etic classification is based on : 
'{1) Observable characteristics of 

existing organisms 
(2) Deudograms based on DNA 

characteristics 
(3) . Sexual characteristics 
( 4) The ancestral lineage of existing 

organisms 

125- A nucleus is present in : 

_ ~!2,, Mycoplasma 
ULJ Amoeba 

(3) Bacteria 
( 4) BI ue-green algae 

P. T. 0 . 
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126. A9 if B ~ {~ ~ / cnT BA 
~ ~ i ? ~ 
(1) '3"ffi: ~ tR 
(2) ~ ~ tR 
( 3) tR tichRl a ~ e.ch'I 0n ll 

~ "' 
(4) ~ tR 

127. ~ ~~ ~ ~lfi(tjjlj ITT B ~~TT cfi ~ 
~ 9n ~ / ~ ~ ~ it ~ 
cln ~ ~ ~ (>fffi~IB it) : 
(l) 22 (2) 24 
(3) 42 (4) 38 

12a. ~ ~ ~m :rr cpf c.fITOT i : 
o) *n n~~,,., 
(2) cful (l;jjl~RH7<1 
(3) cfu0I (lfc\~-H 
C 4) cful n Q<-11 R:<1"11 

129. A9@fula it ft ~ -m '~ QTG.""q' cpl" 

~ '3~1E>{ 0 1 % ? 

130. 

131 . 

132. 

(1) '3{~q ~ qi-c:q 

(2) ~ 
(3) i/J//$cifl 
(4) ~ 

DP~0ifl4Y it ~ mill 'g : 
c 1) cil§i~fil,a (2) ~ 
(3) f&1°1a (4) ~ 

Q.cl) ~ cnT cll{cifclch 'lffi" mg ~ I ~ 
Q.cl) fwfc QchfiYH ~ B ~ c£t i3TT{ 
.ffe,~fu;r % 1 affe@ ;jj) ~ ffi9t if l 911 
'31T{>fcffifirrr : 
(1) ~~ (2) mg 
(3) m(g + a) (4) . m(g-a) 

frr9 it B ~ -m ~ C-Br -~q , 
~~To/cl~ B 1° ~ cfi 
@%? '3fr:R 
( 1) '3-ll~BIQ)fcld ~ / ~-~' ~ 
(2) J-1l~{-TictJR<1 ~, ::: 
~ '~'--,1 

(3) f.14)qf.-c~ ~ / ~ ~ 
(4) ~ ~ ~ >1_''11~S 

~~ / ~ 
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126. Which of the following has least val ue 
of 'packing efficiency' ? 
(I) Body centred cube 
(2) Face centred cube 
,.µr Closed packed hexagonal 
( 4) Simple cube 

127. Th·e moon would depart from the 
gravitational field of earth fore\·er. if its 
speed increased nearly by (in percent) : 
(1) 22 (2) 24 

-~42 (4) 38 

128. The antiseptic action of dettol is due to : 

( 1) Chlorobenzene L 

J.2J Chloroxylenol 
(3) Chloroquine • 
( 4) Chloroacetylene 

129. Which of the following is an example 
of a 'higher plant' ? 

130. 

131. 

132. 

( 1) Horse tail plant 
(2) Lichen 
(3) Peziza 

\(/41 Ephedra 

The endosperm in gymnosperms is : 
( 1) Polyploid (2) Triploid 

~ Diploid (4) Haploid 

The actual weight of a person is mg. 
When the lift is moving uniformly in 
upward direction, the apparent \\·eight 
of the person in lift will be : 
~ zero (2) mg 
(3) m(g + a) (4) m(g- a) 

Which of the following pair giws l 
0 

carbonium ion by heterolysis of C-Br 

bond ? 
(I) Isopropyl bromide. isobutyl bromide 
(2) Isobutyl bromide. sec - but: I 

bromide 
• ,,,./ Neo-pentvl bromide. iso-butyl bromide 
46J · · I 
( 4) Active amyl bromide. iso-prop:, 

bromide 
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133. ~-I ~ ~-II ifl BT~ "f19Rrfff ~ 
~~ ~ if) ~ ~ rJit ~ -~ \7l?lllcil 
-?r@~cf?T'q[R~: 

134. 

135. 

136. 

137. 

~-I ~-II 
(mw-1Pfq-; m) ('3-ijS!~Jf) 

(a) ~ ~ (i) ~ ffi if 
(b) ~ 9?T mm (ii) ~ ffi if 
(c) ~ ~ 9?T (iii) fcr®m ffi if 

mm 
(d) ~ ~ tfft:B '(iv) ~'tft 

w= 
(a) (b) (c) (d) 

(1) (iii) (iv) (i) (ii) 
(2) (ii) (i) (iv) (iii) 
(3) (iii) (ii) (iv) (i) 
(4) (ii) (iv) (i) (iii) 

~l=TTV¥rif~cfil"~~ 
m.ft? 
(1) iiK1 (2) ~ 
(3) ~ (4) Q(i~f.'M9 

~ a , p ~m y ~ irB ~ cTi ~' 
~ ~m ~ WR ~ ~' ~ a, 
p ~~ y cTi 1l&f ~tr i : 

(1) 6a = 3 P = 2y 
(2) 3a = 6P = y 
(3) 6a=2f3=3y 
( 4) 3 a = P = 2y 

R9 if -?r ~-m >1Rr~~c:61£J i ? 
(1) 02 (2) 02 

2-
(3) 02 (4) 02 

A9 if -?r ~--?r ~~ ~ ~ ? 

(i) \J@~ ~~~if) 1l&f ~ 
(ii) ~ cfjf fciElci--il 
( i i i ) \J@ cfjf ~ 

(iv) ~ cfjf cij/b< 0 1 
(I) (i) ~ (ii) (2) (ii) ~ (iii) 
(3) (i) ~ (iv) (4) (iii) ~ (iv) 
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Match List-I with List-II and select the 
133. 

correct answer by using the codes gi vcn 

134. 

135. 

136. 

137. 

below the list : 
List-I 

(Chemical 

List-II 

(Application) 

Substance) 

(a) Bleaching Powder (i) Preparation of 

glass 

(b) Baking Soda )ii) For making toys 

(c) Washing Soda / ;'.ii) Decol~urisation 

(d) Plaster of Paris (1v) Antacid 

Codes: 

~a) 
(b) (c) (d) 

iii) (iv) (i) (ii) 
(2) (ii) (i) (iv) (iii) 
(3) (iii) (ii) (iv) (i) 
( 4) (ii) (iv) (i) (iii) 

In which medium the speed of sound 
will be maximum ?, / 
( 1) Water (25 Copper 
~ Steel (4) Aluminium 

If a , 13 and y are the coefficients of 
linear, area and volume expansion of 
the solid cube, the relation between a , 13 
and y is : 
~ 6a = 313 = 2y 

(2) 3a = 613 = y 
(3) 6a = 213 = 3y 
(4) 3a = 13 = 2y 

Which of the followi~ is diamagnetic ? 

"(l) 02 ~ 02 

(3) 0 2 (4) Oi-
Which of the following are exothermic 
processes? 
(i) Reaction of water with quick lime v 
(ii) Melting of ice 
(iii) Evaporation of water 
(iv) Dilution of an acid 
( l) (i) and (ii) (2) (ii) and (iii) 
\VY (i) and (iv) ( 4) (iii) and (iv) 

P. T.0. 
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138. tzcP cfiur 25 cm '3:rrw:f ffm 3 sec "ctt ~ 
~ rrfci ~ ~ i1 cfi"UT mu 1'.lltJm~ 
cfi ~ ~ 12.5 cm~~ ~Jff cfi 
1:f~ 100 if WR 91ffi ~ JWT~¾ 
~ % : 

139. 

140. 

(1) 0.25 sec 
(3) 0.75 sec 

(2) 0.5 sec 
( 4) 1.0 sec 

~ i ~TT$, i ~ >rfi ~ fcrm 
cfilffl~~i~ : 
(1) ~ qq"~ if ~ (25°C ~ ~ ) 

'3RR ITTill % I 
(2) ~ qq"~ if JRTT -;,tf Nill % I 
(3) ~ cfi cl9"~ if Jffl J:pffi" 

(2s 0 c B -3ffl) itITT % 1 

(4) ll(."Hich if ~ JRTT #@T % I 

cfr;, >Wm~, ft:rBif ~ 3Q cnf %, ~ 
WnR ¥- ~ ~ ~ ~:ff cnr f;r,fur m 
~ I ~'Tl" cfi ~ ~ cJ ~WTT c6 11&l" W1 
>ITT1ft~% : 
(1) IQ 

(3) 3Q 

(2) 2Q 

(4) 9Q 

141. 1, 2-~c'.lsl~1 if #@ ~ : 
(1) ~ sp2 ~ ~ ~ 
(2) sp, sp 2 ffm sp 3 ~ ~ 
~ 

(3) ~sp~~~ 
(4) sp ffm sp

2 ~ chT$r ~ 

142. ~ cnur chi ~ tTIB 0wrcf 11fcf if, ctur 
chi 'cl1l=f WlTT ~ : 

(I) ~ ffm ~ $rt ~ ~ 

c2) ~ ffm ~ $rt ~ ? 

(3) ~ ~ fj"ey ~ ~ } 

(4) ~ ~ ffim mur ~ i 
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138. J\ particle executes SHM of amplitude 

25 cm and tim e peri od 3 sec . What is 
the minimum time period required fo r 
the parti cle to move between two po ints 
located at 12.5 cm on ei ther side or the 
mean posit ion ? 
( I ) 0.25 sec 
(3) 0. 75 sec 

(2) 0.5 sec 
wt) 1.0 sec 

139. Fractional di sti ll ati on method is used for 
purification of liq uids when there is a : 
( I) Small di ffe rence (less than 25°C) in 

their boiling poi nts 
efJ No difference in their boiling points 

(3) Large di ff crcnce (greater than 
25°C) in the boi ling poi nts of liquid 

( 4) Small di ffe rence in the melting points 

140. Three res istor. each equal to 30 , are 

connected so as to fo rm a triangle. The 

equivalent resistance between any two 

vert ices of the triangle is : 'A 
( 1) IQ (2) 20 -3 ~ 

V(J) 30 (4) 90 

14 f. The compound 1. 2-butadiene has : 
( 1) Only sp 1 hybridizeq carbon atoms 
(2) sp. sp 1 and sp.) hybridized 

carbon atoms 
~ Only sp hybridi zed carbon atoms 
(4) Both :,,p and sp 2 hybridized 

carbon atoms 

142. In linear simple harmonic motion of a 

particle, at the extreme position of 

particle : 
ft) both velocity and acceleration are 

m a)c 1111 um 
(2) both velocity and acceleration are 

m1111mum 
(3 ) veloc ity is maximum and 

accelerati on is minimum 
( 4) ve locity 1s m1111mum and 

accelerati on is max imum 
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143. 

144. 

145. 

146. 

R9 ~ it X _ z_,,_-H~g~ 
HCI ? Zn -

Hg/HC/ -3N'C41llch cB ~ ~9fiifum 91T 
~f{'qq~~ : 

( l) ~ (2) -3~i~fnq.-e..:r 
(3) ~ (4) n-~ 

R9 it B ~-m ~ Qch@~rt ~ ? 
(1) ~ ~ (2) ~ 
( 3) chi-ch U =q ( 4) ~ '3if 

1Zcfi QchW-ll'i ~ ~ ~ L ('I"~ 

~o!..li-Jl'i m ~' ~ ~ ~ q-{ -00 % 
~~~cfif1Zcfi~WT~ 
iri ~ B '3"tiTTtR ~ ~ ITTtn ~ 
· UTT % \ ~ -g :£6~1.q ~ _%, ~ ~ 
~~~~i::rr~i~~1r=IT 
ffi ~ : 

MgL 
(1) 

6 
Mal (2) _ o_ 

9 

(3) MgL (4) MgL 
12 18 

f.:J981Rsla if # ~ -m ~ 
~ % ? 
(1) @RP-11 

(3) tl<i"11f1 
(2) RfcT 
(4) ~ 

147. Fl71mT 1iki!Nld ~ ~ 50 m % I ~ 
J = 4.2 J/cal ~ ill ,rff1>1q1a B jTJ-frr er@ 
~ i J'ctjdJ.J «'I""{ ('I"~ ~ m{ i::r"t 

crA( i mq if JTTIT irrr : · 
(1) 0 . l l 7°C (2) 0.49°C 

(3) 0 .82°C ( 4) 2 .05°C 

148. qrc:q ~lirr #~~ITT mm% : 

c 1) ~u, qufq~ ctr ~m MW 
q:ct ~u mu 

(2) ~u q:ct qufq~ ctr mm 
M'ill&TU 

( 3) ~u q:ct ~u mn 
(4) ffi~ ctr mm ~ ~ 

~u mn 
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143. 

144. 

I C I 

In the !'nllowing reaction .\' _ /" Ilg_ ► '? 
II( '/ 

with in - Ilg/ I IC/ as reducing agent. it 
would not be possible to prepare the 
following : 
( J) Propane 

l0} Propcnc 

(2) lsopcntanc 

( 4) n-pcntanc 

Which of the following animal is uni sexual ? 

(1) Tapeworm (2r Leech 

f3) Cockroach (4) Earthworm 

. 145. A uniform chain of length L and mass m 

is lying on a smooth table and one third 
of its length is hanging vertically down 
over the edge of the table . If ;; is the 
acceleration due to gravity , then work 
required to pull the hanging part on the 
table will be : 

(y(' J'v!gL 
6 

(3) MgL 
12 

(4) MgL 
18 

146. Which of the following 1s 
c,1r1;9hydrate ? 
{'11' Stevia 

(3) Cellulose 
(2) Starch 

(4) Lactose 

not a 

147. The height of Niagra falls is 50 m . If 
J = 4.2 J/cal , the difference in 

temperature of water at top leve l and at 
the bottom level of fall will be : 

( 1) 0. l 17°C (2) 0.49°C 

~ 0.82°C (4) 2 . .05°C 
148. Loss of water from the plant body takes 

place through : 

u-('stomata, cell wall of mcsophyll 
cells and hydathodes 

(2) Stomata and cell wall of mcsophyll 
cells 

(3) Stomata and hydathodcs 
(4) ·cell wall of mesophyll ce lis an_d 

hydathodes 

P. T.O. 
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[ C ] [ 30] 

149. ~ '3ffi~ if f;i9~fula if B c6A'-tff 149. Which among the following is strongest 

150. 

~ m-{ i ? base in gas phase ? 

(1) ~ ~ (1) Triethylamine 

(2) ~ ~ (2) Diethylamine 

(3) ~ ~ 

(4) 1j-jt.nf;iq1 

1Zcnfl1Zcn~Beytjt~i,~ 
q-{ G@" f;r9 "SfcnR WTffi ~ : F = 600 -2 
x 105 

t, irfITT F ~ if ijey I ~ if 
~,~tr fl~ cb't ~ B 9l"ITT" 
f;i cfl(<k1->i ~ ~ q-{ G@" ~f<l "ITT '1ITcTT ~ I 
1T@T cnT ~ ~ ~ ~ ~ : 

(I) ~~ 

(3) 1.8 Ns 
(2) 0.9 Ns 
(4) 9.0 Ns 

150. 

(3) Ethylamine 

~ Ammonia 

A bullet is fired from a gun. The force 
on bullet is given by F = 600 -2 x I 05 

t, 
where F is in Newton and t is in 
seconds. The force on the bullet is 
reduced to zero as soon as it leaves the 
barrel. The average impulse imparted to 
bullet is : 
(I) Zero 

~ 8Ns 

(✓n.9 Ns 

(4) 9.0 Ns 
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